@ Problem Solving

Mathematical

s. PRACTICE Use Math Toots Demant usad 4 gailons of gasoine
n thigo days divirg to wark, Each day ho wsod thd same antgunt of
gasoline. How marny galions of gatoline did he use @ach day?

6. Suzanne madde 2 galicns of puran to be citdded equally among ¥
cecple. Mow much of the cunch dd each persen recene?

Ooﬂraln Builders

7. The haseball team is saling 30 0aves of Danana bread. Each loaf i
sliced and equally divided Irto 12 birge starage contaners. f qach
slice is tha sama 5120, how many aaves ol banana braad e in each
cemtairer? Betaven what two whoie numbers daes the answer 1e?

Wattematical
8. PRACTICE &2 Reason You know that 15 © 3 = 6 then
Sx3=15youknowitat7 - 8 = a’ what can you concuck

7
atout the product of 8 and 87 Expian,

9. ,Buslding on the Essential Question How can division oo
reprasanted by usng a fracticn? Give a realword axample

554 Cwapter8 Footiocs and Jic b
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Numider end Operatoes - Fracton

\ EN TR

Lesson 1

PN O A A K Sl L st

omeiwork

" Fractions and
Division

Two truckloads of mulch are used to cover seven playground
areas. Each playground receives the same amount of mulch.
How much mulch doos each playground receive?

Tvio truckioads are draded 1o cover se40n playgrounds.

Each playgicund receives § of a iuckload.
: 2
S0.2+ 7= =

This number 15 between the whole numbers O and ).

1. Threo pounds of potatoes make eight equal-size serargs
of mashed potatoes. How many pounds of potatoes are in
each serving? Reprasent the situation with a model. Then solve,

\ Each 56rving Uses wee pound of potatoes.

—

i ( ]
S $0,3+ 8 = f’“ﬁ
i | ]
The answer s between the who'e numbers and

Lessonl My lamescre 588
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: Y Problem Solving

2. One large submarine sandwich 5 divided egually among four
gocple How much of the sandwich ¢id ach perscn 1ecaive?

bo Brain Builders

3. Four gallons of pant are usad 1o paint 20 chairs and 9 small tatas,
f cach chalir ard table used the seme amount of cant, how mary
galors are used to pant cach ctece of fumiture? Between what two
whoke numbers does your answe: le?

Mithanatcal

4. PRACTICE Make Sense of Problems M. Larsen made 12
pllicans fram 16 yards of the sama fabrc. How much ‘abric was usadd
1o make each pdlow? Betwesan what two whole numbess does you'
arswer ke?

Howve marry feet of fabrc are needed for each pillow?

L 41

Vocabulary Check &)

8. Fill in each blank with the correct werd to comziete the sentence.
The numerator 15 the rumber 11 a fraciicn, whie the

derammnatoer 15 the numbar In a fraction,

6, Test Practice Elena drark 5 bottles of water aver 7 vodéybal
practices. How much watar dd Flana drnk each practice if the crank
the sama amount each tima?

® 2 vottie ®© 3 cottie
2 i AR
o 5 botte © . l5 boltes
556 Need more practica? {i ' ﬂcaanutED.nqurhilium
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Lesson 2 ’

ESSENTIAL QUESTION
Greatest How are tacters and

mutiphes hiphd

Common Factor vt e

Factors shated by two o more numzers are caled
common factors. The greatest of the commaon facters
of lwo or more numters 3 the greatest common
factor (GCF) of the numbers

Example 1

Sevierville Middte School arrangos their sports
trophics in rows in a display case. There is an

equal number of trophées in cach row. Each row Volurbul | | Ty |
has only one kind of trophy. What is the greatest Focttul 7 |
possible number of trophies in each row? Bieobal 12 '
Write the prime facterization 10 find conmmon factars
40 24 32 ,
/\ /\ /\ |
{ i ‘ 1
CRATR AT
2 x 2 x| x;[ ] }x[ X 2 % F D ox F ¥ }tl
i i i wd & i . i
e e Lt N rumoserenivn - g !
.rlif me MRy Co W (;mm- I3 tCO 2800 3 ! ' L . /\
SRS A WE—— - ,VJ 1 § i
2 %X 2 1\{ x|

- e e B tettmiesttmtnit
(;jwn{\'j.;:r_rk,'.‘ll;z-'] )

The common orime tactors ara 2,2, and 2.
Mutiply to fmd the GCF,

x X of

S0, the greatest numbor of roshikas that could ba placed in each row &

Cviiw Content at gcmui&m;ru-hill.con Lesson2 557
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Example 2 [/

Find the GCF of 60 and 54,

Mae an organized list of tha factors o each aumber Then circa the
commen factors,

€01.2,3,4,5,6.'0,12.15, 20, 30,60
54:1,2.3.6,9. 18,27 54

The cemmon fecices are . : , and

So, the greatest common ‘acter, or GCF, of 60 end 5415

i A

Guided Practice

Find the GCF of each set of numbers, @ﬂ& )4] Amy

1. 8,32
Explan whch methog

g you preder to fnd the
GCF of tac nLmbars.
32

The commen fectors are ‘ ; . end

So.the GCFo'8and 32 &

2, 312,18
3
12
18
Ihe commen factions we and

So, the GCF of 312, anc 18 is

558 Omapter8 Fionticnn and ucanah
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/24 Name

/ )
4 ’/, Find the GCF of each set of numbers.

3. 24,60
5. 18,47
7. 4.10. 14

: 9. 9.18 42

°

4

!

b

&

3

:

4, 12,18

6. 30.72

8. 14,15, 84

10. 16,52.76

Lessen 2 Cocatenad Comnon Failor

559
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Prepwyiie for SAF D

Name

B B A N e B A A e e s T —

Lesson 2

" Greatest
Common Factor

The table shows the amount of money Ms. Ayala's Artwork
Ms. Ayals made over three days selling " Cost (3)
4-inch X 6-inch prints at an arts festival,

Each print costs the same amount, What [ Saturcay ]

is the most each print could have cost? Srday

Wreite the pdme factarization to find common factars
144

AT A T AT A
2 %3 x 2% 5 | /\
T F IR IANExdxAKE: FREEMININIXxY
[;v:w factonzatian ) X o )
(pnme !h:I'-:r‘.':ﬂcn 3 (-,:( me f.‘i::l:( o0 CO )

The commaon peime factors are 2, 2, and 3,
Multipy to find the GCF, 2X2x3=12
So, the greatest cost of each print would be $12,

Find the GCF of each set of numbers.
L 2130 2. 12,30.12

st d

Lestan2 “y uimu s 561
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@ Problem Solving

3. Astore sels bottles ¢of Julce 1 equal size boxes. Garth baught
18 botties. Rco bought 36 botties, ard Mal beught 45 botties. What
3 the greotest rumber of botties in cach box? How many boxes did
eecn person buy of each box contzined the greatest number of
colties possibie?

| Q{)Braln Builders

Mathematicsl
4. PRACTICE Justify Conclusions The GCF of arvy two sven

NUMDEES i awearys evan. Datarmine whedher the statement §s true of
fovse, It trua, eaplan why. 7 13lse, e a (eason

W 4y

Vocabulary Check &}

5. Cucia tha comet tarm that makas the sentence true
The (greatast, 1east) of the comman 1atons of twd §r mee
aumbers is tha (greatest, igatt) commaoen factor of the numbaéars,

6. Test Practice Jeremiah wil give away al of his
LPONS Cargs to a rumsear of his riends Ynat is
the greatest number of frands he can give his Bt

Spons_ C_ards

Number

cards to 30 that each friend will recese a1 Footoal

equal numbeor of bascball cards end foctball coards?
& 4 fienos © 12 friends

(® 8 hencs @ 16 mends

562 Heed more practica? (. Q(ﬁﬂn&(lio.ﬂ(virhilitcm

L Y .

-

Parent Lesson PlanPage 79




If you have access to a computer and are working on USATestPrep online, you do NOT
have to complete this worksheet.

Name: Class:
Teacher: Date:

Directions: Compule the sum or difference. Simplify your answer. Show all work.

1, 2 2 4
I =+= 7. =+
44 7 T
7 .8 13 7
T 8, ———
1313 14 14
3 ¥4 3
3, == 9. —+—
§ s 1 1
% 4 5 3
4. —— - 10— —-—
8 8 10 10

= 19 6 3 4
i = AP ll=+—
35 35 42 42
17 4 55 30
6, ——— 120= ==
36 36 75 75

USA™S=%

S I RATsatrran I AL Raovhtt Rowariod
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0 What is the least common muyjs;
of 6 and 10?

ple (L% :

@) oraw and label a Venn diagram thy,
shows the intersection of the sets beloy,

SetA=2,4,6,8,10
Set B = 5, 10, 20, 30, 40

0 Simplify the expression (6 x 2) - U.

o What is

LA e ST

the average score per game?

Whatis the cl

SpInning a:




ivia buys six 12-packs of fruit snacks
14.40, how much does each fruit

O hectogram O millimeter
O kilometer O deciliter
cenfimeer O kilogram

o Write the number In standard form.

one hundred six thousand forty

' ) complete the table and explain the rule.

@ How many lines of symmetry does the
figure have? Draw it.

oo ©'2
o1 O3

@ Elijah is planning a picnic. He will invite
twice as many boys as girls. If he invites
18 people, how many boys and how many
girls will get invitations?

boys girls

35
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S'painting boxes that are stacked'one on top. of the other.

DAINIS only the ‘-:‘,lé{:}‘;g;:il|L|}'ii‘[i[?i(ﬂgj(s)(!ﬂlﬂ(ﬂfl]}(df(;lﬂ‘ilﬂ‘_]',l‘);‘{‘|.H 2

however, palntithe top ofithe box atiihe very.iop.of the stack.

mpletethe function table to'show how.many faces Wyatt:
aintion each stack of boxes.

|
|

1

-
|

|
-
11
|
1

‘Whatiis:the rule?
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